Name Date

[ Addition Puzzles - Guided Lesson Explanation ]

Explanation#1

First we solve the first horizontal row 21 + 16 = 37 and 15 + 16 = 31.

Then we solve the second row 21 + 20 = 41 and 15 + 20 = 35.
Answeris : 37, 31

41 , 35

Explanation#2

First we solve the first horizontal row 23 + 15 = 38 and 32 + 15 = 47.

Then we solve the second row 23 + 40 = 63 and 32 + 40 = 72.
Answer is : 38 , 47

63, 72

Explanation#3

First we solve the first horizontal row 35 + 31 = 66 and 20 + 31 = 51.

Then we solve the second row 35 + 24 = 59 and 20 + 24 = 44.
Answer is : 66, 51

59, 44
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